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Third Semester B.E. Degree Examine,€dff J,rtyla.rgust 2022
Network Thrqpff'

Time: 3 hrs. *,&r"%l Max. Marks: 100

Note: Answer any FIVEfull questions, choosinffiNEfull questionfroru-each module.

tvtoOuie-i
!r utryI a. Briefly explain the classification of efec&idal networks. '"",,,."i (10 Marks)

b. Three resistance are connected in dd$;obtain the star equivalent of the network. (05 Marks)

c. Find the equivalent resistance beffi.ffiany 2 corners. (Refl Eig-,Ql(c))
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State and explain Thevenin's theorem.
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State and explain maximum power transfer when load imffince consisting of variable

resistance and variable reactant. .t+tt (10 Marks)

Using Millman's theorem, find the current, flowing lpg\ffi (4+j3) f) of the circuit as in

Fig Qa(a). ; -ii'
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r, capacitor and resistor.

(10 Marks)

(10 Marks)

state for a long time. (Ref. Fig Q5(b))
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a. In the given ne1,#Orlq K is closed atffifrith zero current"iilthe inductor. Find the values of
. di d2i ! 'tu-
i, :, iiat t = 0*, if R = 8C) 

-aE4 
L;0.2H. (Ref. F-ig Q6(a))'dt'dt4 d\
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.,.*.,, ,:rrry ,":'"'ry**Fig Q6(a) (10 Marks)

b. In circuitffiP:tu Fig Q6(b). Tiiel lvitctr K is changed from position 1 to position2 att:0.
1. 12.

Steady state-condition having bieen reached at position. Find the values of i, I and f] at-'r--'--- - 'dt dt'

., I lv *tol>,. '' ^,4 r lrlP '7rY;E;lrz,fF,
Fig Q6(b)
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7a.

b.

8a. Find the Laplace transform for the gird$ire Q8(a).
a

{L{)

JI
+

i) Unit step tunction ii) Unit Ramp tunction iii)*I$IffiiffiPulse tunction.
Find the Laplace transform of following : "q

AA(i) x(t) :2t u(t) - *Arrl ii) x(t):5u (t/3ffi'+=;iii) x(t):5e-'/2u(t)
dt
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eriVe as expression for natf power frequencies in series RLC circuit.

(10 Marks)
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(10 Marks)

(10 Marks)
(10 Marks)

9a.

b.

What is resonance? Dertre as expressiop foh half power fre_Eqericies in series RLC circuit.

Define Q-factor, aledtivity and Bandwiptffi ,* 
" ".'"' (10 Marks)

Find the value ofiRr for which, circuitphown below in Fig Q9O), is resonant.
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.++mi+ Fig Q10(a)
b. Derive Y par4[leters in tertns of ABCD parameters.
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